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QUESTION 1

After deploying an ONTAP Select 2 node HA cluster at a remote site, you successfully perform manual
takeover and giveback before placing the cluster into production. After the cluster runs in production for a
week, you notice that you can no longer perform a manual takeover.

In this scenario, what are two causes of this problem? (Choose two.)

A. There is a network disruption between sites.

B. ONTAP Deploy has been deleted.

C. The vSphere HA service has failed.

D. The HA interconnect cables have been removed.

Correct Answer: AD

QUESTION 2

A client has a primary data center that islocated in a coastal area where the forecast is calling for a Category 5
hurricane to make landfall in three days. The client\\'s data is protected using NetApp SVM SnapMirror replication
technology with identity-preserve that is enabled. The data is mirrored to a destination cluster outside of the affected
area. The client has scheduled a controlled maintenance window for tomorrow to ensure that dependable operations are
maintained.

Which three steps must be taken to accomplish this task? (Choose three.)

A. You must break the SnapMirror relationship on each individual volume between the source and the destination
clusters.

B. You must configure the destination SVM volumes for data access.

C. You must reboot each server in your infrastructure so that they can access the data from the destination volumes.
D. You must break the SnapMirror relationship between the source and the destination SVMs.

E. You must stop the source SVM before activating the destination SVM.

Correct Answer: BDE

QUESTION 3

You have deployed a MetroCluster IP disaster recovery solution for cross-site protection and business continuity
operations.

In this scenario, whichtwo statements are correct? (Choose two.)

A. Replication of storage data is performed over the iISCSI connections between the two sites.
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B. Replication of storage data is performed over high-bandwidth dedicated links in the IP fabric and NVRAM over a high-
bandwidth dedicated FC fabric.

C. Replication of storage data is performed over a high-bandwidth dedicated FC fabric and NVRAM over high-
bandwidth dedicated links in the IP fabric.

D. Replication of storage and NVRAM data is performed overhigh-bandwidth dedicated links in the IP fabric.

Correct Answer: AB

QUESTION 4

A customer has developed a new application that uses Oracle with an AFF system to help track all of their shipping
trucks around the world. The customer wants to ensure that application-consistent backups are offloaded to the cloud.

In this scenario, which two solutions enable the customer to satisfy these requirements? (Choose two.)
A. FabricPool

B. Flash Pool

C. SnapCenter

D. FlexClone

Correct Answer: AC

QUESTION 5

You have created a new CIFS share but it is inaccessible. After verifying the export policy, network connectivity, junction
path, and permissions are all correct, you realizethere is root volume loadsharing mirror in place.

What should you do next to make the share accessible?
Response:

A. Update load-sharing mirror.

B. Update the root volume policy.

C. Re-create the CIFS share.

D. Modify the CIFS sharepermissions.

Correct Answer: C
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